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QUESTION 1

How can a list be sorted to display more frequent values first?

A. In the Data Modeler, set the sequence order in the properties of the List field.

B. Values can only be sorted in ascending and descending order and cannot be ordered individually.

C. In the Form layout, use the Manual Sort option to arrange the entries in the desired order sequence.
D. In the List Manager, use arrows from the Order column to move entries to the desired order sequence.

Correct Answer: D

QUESTION 2

A field level formula that depends on a query has been modified within a business object. The query did not change.
Which cache must be cleared?

A. UOM Data

B. State Data

C. Query Cache

D. Extended Formula Cache

Correct Answer: D

QUESTION 3

Which workflow task can create an association?
A. Trigger Action

B. Modify Records

C. Modify Metadata

D. Retrieve Records

Correct Answer: B

QUESTION 4

Multiple DataConnect jobs were supposed to start but have not. What should be checked to make sure the
DataConnect process is running?

A. DataConnect



B. Agent Manager
C. Database Manager
D. Database Query Tool

Correct Answer: B

QUESTION 5

The requirement for a state transition is to automatically close the record window when the transition occurs at runtime.
How can this functionality be implemented?

A. Configure the Close Window setting in the sub action properties

B. Configure the Close Window setting in the state transition properties

C. Configure the Close Window setting for the target state properties in Form Builder
D. Configure the Close Window setting in the properties for this action in Form Builder

Correct Answer: B

QUESTION 6

Which three options are inherited from the BASE business object (BO)? (Choose three.)
A. Form

B. Fields

C. Description

D. BO Mapping

E. State Family

F. Associations

Correct Answer: BEF

QUESTION 7

A user reports that the workflow is updating the wrong set of records. Which workflow task should be checked?
A. Modify Metadata Task

B. Retrieve Records Task

C. Get Temp Record Task



D. Save Permanent Record Task

Correct Answer: B

QUESTION 8

In a workflow, a Retrieve Records Task is failing to return records. Which two steps should be taken to resolve the
issue? (Choose two.)

A. Make sure that the query is attached

B. Check that the filter in the query is correct

C. Check the association selected in the From Records

D. Run the query in the Systems Report tab of My Reports

E. Check that the From Record is pointing to the correct workflow task

Correct Answer: CE

QUESTION 9

When applying the Sort Section action on a form\\'s tab, which statement is true regardless of the original layout of the
sections?

A. The sections will be reorganized in the order that they were created.

B. The sections will be reorganized in the selected order with the exception of those sections where the Visible property
is left unchecked.

C. The sections will be reorganized in the selected order from the bottom of the tab to the top of the tab regardless of
the original parameters.

D. The sections will be reorganized in the selected order from the top of the tab to the bottom of the tab regardless of
the original parameters.

Correct Answer: D

QUESTION 10

When a business object (BO) is published, how can one tell that the publish process has been completed?
A. A pop-up message appears to confirm the BO publication.

B. The revised property is not grayed out in the Data Modeler.

C. All forms for this BO are automatically published with this BO.

D. A notification has been sent to the user that triggered the publish process.



Correct Answer: D

QUESTION 11

Which type of workflow can be called from an onClick event?
A. Subflow workflow

B. System workflow

C. Synchronous workflow

D. Asynchronous workflow

Correct Answer: C

QUESTION 12

What is the process to hide a state transition action from view in a form?

A. Select Secondary Action in the sub actions properties in Form Builder.

B. Deselect Default Display in the state transition properties in Form Builder
C. Select Secondary Action in the state transition properties in Form Builder.
D. Configure Includes/Excludes in the sub actions properties in Form Builder.

Correct Answer: B
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